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4.1 Multiplying & Common Factors

Multiplying Numbers using Box Method
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Factoring Numbers Using Box Method

—10
-3

2. (5)(-42)
Lo -2
-200 |- 10
— - 200 —/0
= =~F6

5. (—17)(51)

50 1]
-s5co| - (0
-2s50| — 1

3. (-4)(-38)
-20 -2
-Hl7z2zo | 22
= 120722
= /52
6. (-42)(-25)
— 20 <
-4 tco | zeO
2| do 10

= -s00 ~350~10-7
=-3b7%

_ o0 ~ 2rw~Ho4 0

Ay

*fill in the missing values to determine the factors of each number**
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C. Multiplying Algebraic Expressions using Box Method
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D. Factoring Algebraic Expressions using Box Method

GCF = greatest common factor

**When we factor algebraic expressions we are dividing out the GCF**

Recall: Determine the GCF of each set of expressions.
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Factor each expression by removing the GCF.
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